
Area and Perimeter

1. Circle the shape which has a different total perimeter to the others.

2. Using the formulas p = 2l + 2w and a = w x l, complete the missing values of the 

shapes below.

3. The shape below has an area greater than 100m2.

Work out the possible perimeter of the shape. Convince me.

6cm

Not to scale

A. B. C.

110mm

9cm

7cm

7cm
12cm

5cm

A. B.

mm
9cm

21cm 2cm

14cmcm

2cm

cm2

mm

cm

cm2

Not to scale

Not to scale

140mm

7cm
9cm

17cm

2cm

10mm

7cm

© Classroom Secrets Limited 2020

This worksheet is part of our Year 6 Home Learning Pack for Week 9.

Visit kids.classroomsecrets.co.uk for online games to support learning.


